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QUESTION 1

Given the code fragments: What is the result?

public static void main (String [ ] args) {
int [] stack = {10,20,30};
int size = 3:
inti dx = 0;
/*line nl */

System.out.print (“"The Top element: " + stack [idx] ):

A. Compilation fails only at line n2.

B. RTool::export Tool::export

C. Tool::export Tool:export

D. Compilation fails only at line n1.

E. Compilation fails at both line n1 and line n2.

Correct Answer: E

QUESTION 2

Given the code fragment:
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Which code fragment, when inserted at line 9, enables the code to print true?

A. String str2 = stri;

B. String str2 = new String (strl);
C. String str2 = sb1. toString ();
D. String str2 = "Duke";

Correct Answer: A

QUESTION 3

Which two array initialization statements are valid? (Choose two.)
A. int array[] = new int[3] {1, 2, 3};

B. int array[] = new int[3]; array[0] = 1; array[1] = 2; array[2] = 3;
C. int array[3] = new int[] {1, 2, 3};

D. int array[] = new int[3]; array = {1, 2, 3};

E. int array[] = new int[] {1,2,3};

Correct Answer: BE
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Reference: https://stackoverflow.com/questions/1200621/how-do-i-declare-and-initialize-an-array-in-java

QUESTION 4

Given the code fragments: What is the result?

A. Super Sub Sub

B. Contract Contract Super
C. Compilation fails at line n1
D. Compilation fails at line n2

Correct Answer: D

QUESTION 5

Given: Which statement is true?

class P1 {}
class P2 extends Pl implements I1 {1}
interface I1 [}

A. The program executes and prints:
500.0

B. Commenting line 16 enables the program to print: Thank You!
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500.0

C. Commenting line 13 enables the program to print: Thank You!
500.0

D. The program executes and prints: Thank You!

500.0

Correct Answer: B
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